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And we derive from this that 7957 is 299D — =WD T9577 710n YRR

OVERVIEW!

The X ma cites a Xn°°12 which says that if a qvw states that the Mm% owes the
lender o°¥%0 (but it did not enumerate how many 2°v70); the m%n claims the
loan was for five o°v90 and the Mm% claims it was three 0°¥50, there is a
dispute between X"2w1 and ¥"1. While X"awA claims that the m? is a n"2m
and is required to swear, ¥"7 maintains that the Mm% is a 77°a8 2°wn (for he
could have claimed two 2°v70) and is 7v12w»n . The X3 assumes (based
on the text of the &n>92) that the n.>mn is only if the Mm% claimed wWHw;
however if the m? claimed o°nw he would be W5 according to everyone.
The reason he is Mv»d if he claimed 2°nw is because his admission of 2NV is
written in the "ww (for 2°¥%0 means [at least] two), and we consider the
amount written in the 7Y to be 2‘[5’7{, and that 1s the reason he 1s 7¥12w» MWD
if he admits to 2°nw. This proves that 72°7 is MW from »"2m nyaw. Our
mooIn reviews the NPYPM7 of ¥ R"2wN in light of this proof.

mooIn asks:
— 3ﬂ’ﬂ\’) 99N Y27 INMNT YHVA JIN) N> 99NN ON)

And if you will say; the m% should be believed (without a 71312w) when he
admits to w52 (even according to X"2w"), on account of the 3% that he

could have claimed 230w, and he would have been believed (as the X3 is presently
stating); therefore he should also be believed by wow.

N1B0IN answers:
— DYN DN PRI 990 9913 7YY 71N DINY NN OX NV 79571 1193 Y Y

And one can say; since 7997 is 712wn 2wy, if he claims 2°nw he is a 2"':11,
and a person is not 1y» to be a 3"mM>.

! This n9o1n references the X713 on the '2 Ty,

% See *"w1 on the XYy 71"7 '3 Ty, that a MW is considered T%°17 since it implies Mypap TV

3 In the case of a regular n"21 he does not have the 11 of 3" because 1"¥» X"R; however here we have a
unique case where even a 1" is 7¥12wn WO (the case of 2°nw); we should therefore say that when he
claims w5 he has the 131 of o>nw (which is not a 3"m> and is not subject to the rule of ™y X"X).

* The reason 7577 is MWD is because in a case of 77, we divide the loan into two parts. The part of 721
which he admits to is considered paid to the m%a. The remainder of the claim is a regular 3"m> situation
where the m%» claims and the Mm% denies everything. In this case of 7w the same applies. Two of the three
o°y?0 which the m? admits to is written in the uw and is considered 772’77 and paid. Concerning the
remaining three 0°y20 which the 7121 claims; the m? (who is admitting to one) is a 121, but he would be a
5"m5 had he claimed o°nw instead of the W?w which he is currently admitting. A »"2w is not believed with a
2°n that he could have been a 3"712, since 1¥n R"X. Therefore he has no 1. See ‘Thinking it over’ # 1.
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mooIn responds to an anticipated difficulty. We are now saying that 2°nw is considered a
5"m>3 and there is no n; how therefore does ¥"9 maintain that by w5¥ he is 75 since he
is a 772X 2°wn for he could have claimed o°nw; according to NBOIN answer, 2NV is a
5"m>5 and there is never a 13°» of 3" since ¥n X"R?!

mooIn responds:
:*NIOY 1Y YI0IT MY 90 NY N2PY 2299

However, according to ¥''9, claiming 2°nw is not brazenness; for the “vw

supports him; as opposed to a regular n"212 who cannot be a >"m3 since that would be
a mvn, for nothing would be supporting his claim as a 2"712.

SUMMARY

According to X'"2wA there is no °n of 2°nw (even if 2°NW is 71VD because it is
7%°1), for @nw is considered a 3"M> (on account of 77°77); however ¥"
maintains that the 2"m>3 in this case is not a 1y since the W supports him.

THINKING IT OVER

1. It appears from °moown that if there is a partial admittance [and no
immediate payment], then there is no 77V in denying the balance (for we say
"MnnwXR); however if there is a partial admittance and immediate payment
(72°n), then denying the remainder is a 1v71! Where is the logic in this?!’

2. moon taught previously® that the reason 1yn X"X is because =21 17°an
17Pw2. Why then is there a difference (according to ¥"7) whether the 0V is
1w»on or not?! If 7911 is considered 1>y then it should always be considered a
mvn!

> The Tvw states merely 2°v>0; indicating that the loan was only for two 0°¥%0 (the rule is 21w 0°21 WW™); if
it would have been more the 70w would have specified it. Therefore although when one owes money he
does not have the 71vi1 to deny everything; in our case even if he owes three he is very comfortable to say
two and deny the extra three because the 70w supports his claim (of 2"mM>3 on the remaining three).

% See footnote # 4.

"See T MR 7"210 ,717 N1 and 7"MK # 47.

§s19m 7" X,
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